7]t (R) oy [ LN 5 b
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w4 H491:

9.35 x30% = 6.73 x 20% =
5.62 x 10% = 0.32 x 40% =
0.83 x20% = 1.51 x 50% =
7.06 x 50% = 2.65 x 60% =
5.73 x20% = 6.73 x 30% =
0.12 x 20% = 9.38 x 50% =
5.12 x30% = 7.4 % 20% =

8.99 x 10% = 1.44 x 90% =
6.05 x 20% = 4.06 x 70% =
1.33 x70% = 6.8 X 90% =
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7| et (H) EE L RN E A b

e 451 IYHL:

9.35 x30% = 2.805

5.62 x 10% = 0.562

0.83 x20% = 0.166

7.06 x 50% = 3.53

5.73 x20% = 1.146

0.12 x 20% = 0.024

5.12 x30% = 1.536

8.99 x 10% = 0.899

6.05 x20% = 1.21

1.33 x70% = 0.931

6.73 x 20% = 1.346

0.32 x 40% = 0.128

1.51 x 50% = 0.755

2.65 x 60% = 1.59

6.73 x 30% = 2.019

9.38 x 50% = 4.69

7.4 x20% = 1.48

1.44 x 90% = 1.296

4.06 x 70% = 2.842

6.8 x90% = 6.12
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